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= 134,282,500
Al 25,525,000
02 QI 2AISEE X (0IETHR) 159,807,500 103,387,500 56,420,000
O=AFMIINSA 2Ll EX
19,482,500,000& 19,482,500
= 17,482,500
Al 2,000,000
OFatA RH| EX
138,525,000,000& 138,525,000
= 115,800,000
Al 22,725,000
O=4AE" AYH|l X
1,800,000,000& 1,800,000
= 1,000,000
Al 800,000
SAFMIIVER BSAE (X)) 2,947,500 3,712,500 765,000
= 2,947,500
403 AXIEHHSAH=0l 2,947,500 3,712,500 765,000
= 2,947,500
01 XIS 222 2,947,500 3,712,500 A765,000
O=AFMIINSI Ll EX
67,500,000& 67,500
= 67,500
O=AHIISEAX FH EX
2,880,000,000& 2,830,000
= 2,830,000
HHE2HZH 43,416 43,416 0
J12Z 81 (oI X1 A1) 43,416 43,416 0
FH2EHI 43,416 43,416 0
201 L2 26,287 26,287 0
01 AtR22te|bl 26,287 26,287 0
ORAMEg=24| 11,287,000 11,287
O=gHl 15,000,000 15,000
202 04| 12,329 12,329
01 2ol 12,329 12,39
OJl2gR=+& obl 12,329,000& 12,329
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AR Qlfarel 2 A U XIaHE Dt
N dH2EE
el J12ZHI (0L X A0t (CH9: /M)
Al = = ZH ol(5 = =2 OH SEE =2}
203 YR=EH| 4,800 4,800
04 RAN2LERFLH 4,800 4,800
ORAN2ZERFLH 4,800,000 4,800
HeEs(0HXI A D 17,561,000 650,000 16,911,000
LS HeH XI= 17,561,000 650,000 16,911,000
JIEteI A== 17,561,000 650,000 16,911,000
701 JIEt2l HSEES 17,561,000 650,000 16,911,000
01 JIEt3I AN ES 17,561,000 650,000 16,911,000
OB EdSEeH dE=
17,561,000,000& 17,561,000
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